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Read the text below and then answer questions 1-9.
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FREE PUBLIC TRANSPORTATION IN FRANCE

<N

\

I In September 2018, the French city of Dunkirk made its public transportation free. Since then,

/,

the 200,000 residents of the city no longer have to pay to use any of the local buses. The idea of free

<

\s
20
N O

travel has already been tried in several small towns in France, but Dunkirk is so far the largest city [|f

N
to do it. t\"”\'?‘

5 11 Dunkirk's mayor said that one reason for this step is to reduce

Z;
e
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pollution by encouraging the use of public buses instead of private

77
)
e

cars. A year after free transportation began, researchers found that the
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number of bus passengers had increased by 65% on weekdays and
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by more than 100% during weekends. Almost half of the new bus
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/.
I /4/
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10 users said they had stopped using their cars inside the city and 10%

7
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. - !>
ot rid of their cars. "It is clearly very successful in Dunkirk," says Public tranSp(?rtamn ond \\—" VN Q2
g . y very >, Say busy street in Europe Q<7 VNSRS

Professor Lefévre, one of the researchers. "This proves that the idea by Oleg Magni N\

. . . . .. Pexels 1837595 <\~
of free public transportation might work in even larger cities, too." exen :I,\L\'\{;/, {’ \'I,“,\‘

IIT  However, not everyone agrees that major cities like Paris or Marseilles, for example, could [N AN AYY.

15 successfully copy Dunkirk's free transportation model. Those against the idea claim that this model ||RvN-N %70

~
AN
Y

is more effective in a relatively small city which doesn't have many buses. Research shows that free |[f/My
transportation in Paris would lead to almost no increase in the number of bus passengers. There would :\"l‘
also be only a very small decrease in the use of cars. In major cities, free travel would also cost the ||R<2

government a great deal of money. N\

20 IV Supporters of free transportation everywhere argue that the climate crisis has made it more |[|Ri}:
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important than ever to reduce the use of private cars. Since private cars are a major cause of pollution ;‘:a o

/.’

and the levels of pollution in the big cities are dangerously high, free transportation is a public health
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.5
i

2.
' / \\/:\
Al

X
”

issue as well. The supporters also claim that people have the right to free public transportation.
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The government should pay for it just like it pays for schools, parks and playgrounds.
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\\\2

s
25V In the future, will everyone be able to travel for free in France? So far, French leaders have not \\"\,é\/TI‘\\"\“
made a decision. Hopefully, soon they will find a way to try free public transportation in more cities. (M \‘\‘/\/(/\\’,\l\\
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QUESTIONS (70 points)
Answer questions 1-9 in English according to the text. In questions 1, 3, 5 and 8, circle the

>/
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L
-

N~/
LS

S

number of the correct answer. In the other questions, follow the instructions.
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1. What do we learn in paragraph 1?
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i)  What change was made in Dunkirk in 2018.
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ii) Why free transportation is important.
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iii) Which is the largest city in France.
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iv) When small towns tried free transportation.
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(7 points)
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According to paragraph II, how might free transportation reduce pollution?
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ANSWER <.ttt ettt rere e e e e e e et et aa aaaaeeee et t ettt aaaeeeeeeetat b e eeeaettettbaa e aaeaeeetaeratannes .
(8 points)
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The research mentioned in paragraph II shows that in Dunkirk (-).

\\\

most of the new bus users got rid of their cars
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ii) more people use the local buses than before
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half of the residents use private cars inside the city
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most people still travel by private cars during weekends
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(7 points)
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4. What does Professor Lefevre think could happen following the success in Dunkirk?
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(paragraph II)
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ANSWER <ttt ettt eee e e e e e e et et au e aaeeeee e e et a——aaaeeeeeeetatth— e eeeaeetattaaa e aaeeaeeteerrtnnnes .
(8 points)
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Those who disagree with Professor Lefevre claim that free transportation (-). (paragraph III)

i)  will need more research
i)  will lead to an increase in the use of cars
iii) won't be effective in major cities

iv) won't save the passengers a lot of money

(8 points)

Why might the government be against the idea of free transportation in large cities? (paragraph III)

ANSWER: L.t

How does the use of private cars affect public health? (paragraph IV)

ANSWER: ..o

Supporters of free transportation claim that (—). (paragraph I'V)
1) free transportation is more important than playgrounds

ii)  the health issue is worse than the climate crisis

iii) the government encourages the use of private cars

iv) everybody has the right to free public transportation

What would the writer like the French leaders to decide? (paragraph V)

ANSWER: ..ot

6T my

(8 points)

(8 points)

(8 points)

(8 points)
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Write 70-90 words in English, on the following topic.
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10. Do you think there should be more school trips? Give reasons for your opinion.
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Use this page and the next (pages 7-8) for writing a rough draft.
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